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ft~" • A£ / C 0 Q-Ul l_\f f-*^J ^ ( ^â) flAJl » iif̂ - VS_VJJ j 1 -Q.̂  M> —

/ ^ .

\ Pt û v. *--^ Ajt^t 9 /'vJLlD'vJjl ôl oJ ^A* * A g ^ X^ VJ^I 01 oJ *- -*^ ̂  * {i^Lîk * vÇ'ljtJjjf 0-AiSjjHr o » -<Q * »

! \4 Vfj.iJ-stîA^a \â> d l̂̂ v v*^ y jtAj^aLj A u.il t.iNf 1 L*U1_^ Jl 1 ^ *î ̂ ^- Aie, L^_J jLil Aaij «

^ ' ' " ' «Pf^'SPt+ï^-Ji*
1 - ti -i • * »i vti j -î

**LX1XJ| ("vu T Cf «^ û.i 4^ &A\ > 4-l̂ J V^ rf ' ^-J ÇJ' ^Tjf^- — :?*-

N =H1.NA=— -6,02x1023 =3,1 4 xlO21 noyaux.

* t —

-, Am 4J -̂a. -2
Am = nij — mf

=4.m(11H)-m(jHe)-2m(°1e)

Am = 0, 0267u = 4, 4 x 1 0'29 kg

Ellb = Am.c2 =0,0267u.c2 = 24,87MeV

7 <>2 1



*

<i

0,25

0,25 ,

0,25

0,25

0,25

0 ?*>

0,25

A,
'0,25 ;

\5 *

0,25

0,25

O TÇ,2j

0 -1C
,Lj

^?^

( 4LL 3,5 ) :<îiAIUl ûj>ûîl

• d -3 Up^l^ Uf j^ lJ *^ <f^ ~ ~ 1

r (1) Ldlt)^!^^)^^ u m^^

„ m r? im im u « ( t ) - d i ( t ) 1 d U R ( t )u R ( t ) - R - i ( t ; -v i(t; R => d t R d t

L d u R ( t ) | r u R ( t ) .^aû^j (J^^^b
bl R dt R

duR(t) r + R .-,. R _
"l . l l f t i — r* / -i \î "*L! \l •*
.. ' , URW - -1- -M ) ĴUJI f&jfc^H
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